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PART—A
Child Developmens & Pedagogy
English Version Bengali Version
1, Chlld’s “Inability to understand s situation from 1. St arTs Wi e GG Sy RN ST
anoiher person’s point of view' Is called ™ o
(A) Object permanence  (B) Centration (A) Tg7 OfiTes &@ (B) swrais fu
(C) Egoceniric thinking (D) Transductive thinking €)= fowm (D) wwiire BUm

2. When old memories inhiblt new learning, then this
phenomenon ls called
{A) Proactive inhibition
(B} Retroactive inhibition
(C) Interactive inhibition
{D) Postactive inhibition

3. According to Kohlberg, a teacher can Inculcate
moral values In the classroom by
{A) giving importance to religious teaching
{B) asking students o read psychology books
{C) introducing clear and strict rules for behaviour
modification :
(D) discussing moral issues

4, According to Gardner’s theory of Multiple
Intelligence, ‘the capacity to detect and respond
appropriately to the moods, motivations and desires of
others’ refers to

{A) linguistic inelligence

(B) logical-mathematical intelligence
{C} interpersonal imelligence

(D) intrapersonal intelligence

5. According to Plaget's view, the child learns that
swater can be frozen and then thawed to become liquid
again® is an example of

{A) Seriation ability

(B) Classification ability

{C) Reversible thinking

(D) Hypothetico-deductive thinking

6, The personality variable through which people
feel about themselves [s :
(A) Self-confidence (B) Self-dependence
(C) Self-estzem (D} Inovertedness

7, The memory responsible for remembering ‘how to
do things', Is called
(A) Procedural memory
(B) Semantic memory
(C) Episodic memory
(D) Autobiographical memory

* 2 mmqﬁmﬁmmaﬁmmﬂtm
I
wbA) Tedl (Proactive) T
«B) *Z=d (Retroactive) T4
(C) faefEm (Interactive) T4
(D) &= #frw (Postactive) T

P o mem.mﬁwiﬁhmﬁm
TIGTATY WIS TS oA ;
(A) el e Bom oy oF ¥R
(B) Frmipr s T8 A0S T
(C) TR *fErdTaE we = o FaTa R aenm W
W Tfrs e w30

4, A Tt 1 TS WA WA (e (mood),
e a TtV waTE 391, o crofiva eft wuree efE e A
W T T

(A) wToITE 1M

(B) (Mfes-wrifes gfe
oy Tnafes I
<B) Tmafes 3fe

&, ey 72 wpmE, from e o @ e T
sifief® 21 T, TR WAR G TEE TN fiwda = wm’
A% aew By Tm o

(A) = (seriation) wwE
(B) cafmesanm (classificalion) "w%E
WE) TEIR (reversible) Fem
(D) wmwEa-==Ed (hypothetico-deductive) fEum

¥ g, yfeoTam (v TS it Uil s Fres e v

AW
(A) wr-fEwm _ (B) ure-Friim
\p) wwR

(C) ST
W 7. cere wrw T T w'— o RS e T
WA TR TR T, e

\k) *TRETS (Procedural) Afs
(B) ¥ (Semantic) &
(Cy e (Episodic) 4
(D) wrrdfigE (Autobiographical) 4f
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PART—A
Child Development & Pedagogy

English Version

Bengali Version

8. If a child has a mental age of 5 years and & 8. i AN Fio? TRES T 5 70 © FNED T 4 W 4 5

chronological age of 4 years, then IQ of the child will be
{(A) 100 {B) 75
(C) 80 (D) 125

9. Which one of the followings is the correct sequence
of steps for Insightful learning?
(A) preparation, incubation, insight, verification
(B) preparation, incubation, verification, insight
(C) preparation, insight, incubation, verification
(D)} preparation, verification, incubation, insight

10. Falling down on a floor, a child started to hit the
foor oul of anger. What type of thinking is refecied here
according to the theory of Piaget?

(A) Reflective thinking
(B) Logical thinking

(C) Analytical thinking
(D) Animistic thinking

W, T a1 T 5
(A) 100 (B) 75 ,?(?“ 3
(C) 80 @) 125 P

9, e coraft w{Teyes frarem A wnftwara e
i) =fe, Hefoen, wedl, Tk
B =fE, Auften, mikea, ol
(C) =5fE, wwife, Aafte, e
(D) =, mpfiwzd, Heftem, T

i, 4o fio carane + [ow carae Be M 3w I
e #rs wieE | ey Ty W, fefte Tng ovm W
ey etfevws o T ?

(A) sfswrrmes frem

(B) Tfefm fown

{C) Foamarg frgm

Dy FdmemrEe g

11. Which one of the following principles Is NOT ‘AL Frs o= $feft Foffemrm Ay amfe me —

relevant to Child Development?
{A) Sequentiality (B) Continuily
(C) Reversibility (D) Generality Lo specificity

12. There are two tasks in education:

{I} Personality development (II) Habit formation
There are two stages of education:
{a) Primary (b) Secondary
The hest combination of the task in educatlon and

stage of education might be
(A) (1, a); (11, a)
(C) (L a)(ll.b)

(B) (1, b) (I, b)
(I (1L bY; (11, a}

(B) wraTniEEm

" {A) THEET
(D) ez (o FFR

we TeyimT

B Frewaf e

(D oferem faam (1) wem =

foreera uft wa 2

(a) enuirs {b) =mfirs.

Frwr 1w © WA A0S TS e et w—
{A) (1. a); (11, a) (B) (L b); (I, b)

{C) (1. ) (L b) Wwel) (1, b) (11, a)

13. The cephalocaudal principle of child development » \-13. fo A3 Gremmasm (cephalocaudal) Ffdre

refers to the development which proceeds from
{A) head to loe

(B) general to specific
{C) centre of an organism to the periphery of its body

(D) concrele to abstract

14. The first step of memory is
{A) Relention
(B) Recall
(C) Recognition
(D) Learning

[4]

fiwirem v @ (-

N TR (T of-a3 e

(B) wram curs R o

(C) &rm whiery Tufiy curm «ffiz fice
(D) ¢ s fqres fre

v, Ymeamyet o o

(A} ¥rm™

(B) 73S
(C) zryfien

D) e



PART—A
Child Development & Pedagogy

English Version

Bengali Version

1S. According 1o Kohlberg, In which stage of moral % \—45. Corgizs ¥ WipIA, tAfes R cvm won ofe

development does an Individual work to please hisfher
family nvembers and neighbours?

{A) Punishment obedience stage

(B} Personal rewand stage

{C) Good boy/Nice girl siage

(D) Law and order stage

16. Which one of the following statements is NOT true
about the concept of the term ‘Pedagogy*?
(A) Pedagogy is the ways and means of transaction of
curmiculum
(B} Pedagogy is usually influenced by the dominant
culiure
{C) Pedagogy is not related 1o the needs of the children
(D) Pedagogy is being exercised across the curmiculum

17. To address the needs of differently abled Jearners
In inclusive class, which one of the following step should
teachers adopt?

{(A) Approach focussing on leamers' deficit

(B) Approach focussing only on the specific leamning
disability

(C) Approach of neutrality to treat all the children in
similar manner

{D) Approach focussing on leamners” strength

18. Which of the following s NOT an essentlal principle
of teaching at primary level?

{A} Principle of providing attention for individual
difference

(B) Principle of proceeding from simple lo complex

{C) Principle of proceeding from general 1o specific

{D) Principle of providing enough information to the
leamer ,

19. While teacher explores learners’ indirect and
general experience in concept formation In
learning-teaching process, then which one of the followings

will be most acceptable?
{A) Exposure — Perception =3 Absiraction —

Generalization

(B) Exposure — Generalization — Abstraclion —
Perceplion

{C) Exposure — Abstraction — Generalization —
Perceplion

{D) Exposure — Abstraction — Perception —
Generalization

'ﬁ!mimmmm'ﬂmﬂ“m'
(A} g Em o) W
(B) TfEws rwm g
() ST CEon/ A (N g
(D) A & =ET 93

16. Foea et ‘cormvfe e owa T AW
(A} tormiei == oo ~faswmra fofem o4 o Mqm
(B) cormsffin st wegfe wrm e W
Ny (oEIee PrapT BIREE A s T
B s e Ada SRS

i, wygfrrs el fawerta e Freilion sfimo
cibTre e/ Fafeamm fen oom ofufb e By |
(A) Frmiom Sureetofs oy o qite
(B) e FrmSiprm farrs fnm wrewrens oy e

qieef

(C) oo Frafipm ofs Farrwsia Qe TmE
afvef

g e AT o o e

i, S et erafis wrm e vy wefgd fife e
(A) fermees o o A
(B) 7om (4 oo s weroa i
(C) T cure foas fies s e
wPT FrwEivm R wfiae oo e B

19. frea-Fipst etfirmm e @ vt o cvoa i
w8 « Fivias wiwrs word =20 5, o Soa s
siftwaraft sifis aesoa war

wA) iR (Exposure) — =79 {Perception)
ﬁ@mnqummmw
<B) «fHfefEme (Exposure) — iR { Generalization)
— fag&et (Abstraction) — =P (Perception)
(C) i (Exposure) —» R& (Abstraction) —
ARt {Generalization) — S (Perception)
(D) =355 (Exposure) — éa (Abstraction) —»
=12 (Perception) — AWEAEH (Generalization)
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PART—A
Child Development & Pedagogy

English Version

Bengalf Version

20. The level of teaching In which the learner can @ 20. frwr o gz Frw@ fawm ot fRfes #are, .

Identify the problem, define It and iry to solve it by using
eritical and creative abilitics, is

(A) memary level of teaching

{B) undersianding level of teaching

(C) reflective level of teaching

(D) pre-active level of weaching

21. Learning-Teaching becomes more effective, when

{A) Teacher asks questions and students answer

(B) Teacher writes on the blackboard and students
make a copy

(C) Teacher encourages students to ask questions and
helps them 1o answer

(D) Teacher assigns a lot of homework

s

There are some concepts in Pedagogy:

(I) Objectives (II) Aims (III) Goals

There are some factors:

a. Student b. Teacher c. Nation

Find out the best matching pair from the following
pairs:

{A) (111, a) and {11, ¢) (B) (11, a) and (1, &)

{C) {1, a) and (I, b) (D) (L c})and (11, b}

23. A teacher tells the students “Try 1o do the task, you
will learn'. Here the teacher tries to
{A) motivate extrinsically
(B) motivate intrinsically
(C) encourage for achievement motivation
(D) demotivale

24, Which of the following strategy is NOT
pedagogically appropriate for learning in the

Constructivist approach?
(A) Encouraging learners towards

perspectives of objective reality
(B} Group collaboration

. (C) Drill and recall

(D) Exploration through experimentation

multiple

w L. P aft anfell 3, 1A

Teftes avenfie sare an ficaigrs
cfb 3 v wace ool w0, W T

(A) qfeges grm s
NB) cnygIeE g

NG sfewnrms v s
(D) se-afrn g P

L=
(A) P/ T ot 3= o Frmian 36w 0w

(B) frws/ffw anecacs oo o Fewnia o Foe
=

HurRm Sra! Y

r¥

"
i

(L) v e i o 20T SeTiRS SR O

wr Bea frs A eeA
(D) forep/fafemn fa 30 Jom@ GR
cormfens fog v o, oAE . v
() Soeg () w7 (1L1) GO e

fg Bomer e, (oA
a. W@ b FeE o oM

2.

(A) (I, a) o (01, ¢} (B) (II, a) @3t (1, ¢)
NE) (), a)aa (11, b) By (L, c) g% (111, b)
23. o B/ fafr e Som T areft wre o
w0, iR ez | dee e/ Fafw
&) TiE cemen A =TT ST
By wErEEe (e 7R wEre sikven
(C) ~mmizm cxmam Benfis =are sitmes
(D) (euel =ravwes =ars SEms
. Sea e il e firs oo R Rfilfeam
wiesfim oo Sems 7y —
(A) T TETTE T cormefs ek wee w=
(B) w=ors Aot
Wit T A S
(D) «#rm-fr¥rem e =ovas

A5 (A TSIt AATHCR SO AAAAE WA T W O

25. A test is administered twice in a deflnite interval on b 4.25. ARWE 3 IR = Bvgem Pwdion Som vt
& group of school students under identical environmental AR st *ffifere oo = T aom =0y
conditions. The mean scores of the students remain very  of% coam % w1 Fnarf, won wfwilts cat 2afRr =y,

close, It is therefore, sald, the lest has

AW A WA T

E;; :::T:f (A) vadmr
iability
(C) objectivity By ETrTe
(D) moderate difficully value (C) i
(D) wrRf Ffde wm
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PART—A
Child Development & Pedagogy

English Version

26. A teacher asks a student 10 mention different non-
conventional uses of tea-cups. This teaching tends 1o
develop among the students ¢

{A) Convergent thinking
(B) Creativity

{C) Language ability
(D} Concrete thinking

Bengali Version

26. forws/Tfire awem P Siow siom s fify gesfis
TG Airh ot 3 | O W P Befioe g
Benm w3

A wied fowm
wiB) HEAE
(C) STasrs Wl
(D) ¢ fowm

27. Ia the classroom of a primary school, students ‘47, ensfirs fimrmm cafrwrs Fwdm M s ffen
usually come from different social backgrounds in tferms Hogfs, wf, wiifs =y o wew ayfe e wag o)

of culture, religion, economic status and caste system.
What should be the best combination of teacher’s task to
make the classroom inclusive from these given options?
(i} To reflect on his/her own stercotypes and belicfs
{ii} To include and emphasize diversity of children's
CXptricnce *
(iii) To create instilutional ethos towards equality
{iv) Teo instruct children to accommodaie the exisling
standard curriculum
(A) (i), (i), (i)
(C) (i), (idi), (iv)

(B) (i), Gid (iv)
(DY (i), (iii)

Siesr Fegofim wog Fews/fafern o weraf caifteos
ey w1 TS (e erreren WA ~
(i} Fwe/fFiama Frem o faem ofeovem o
(i) o wfeeen s Ao == o o Fan-

(i) wrreR =f afeblee s (ethos) FR T
{iv) Terorr ssfirs = v S sare Fimd fim
(A (i), i), (i) (B) (i), (i) {iv)
(C) (i, i), Giv) B (i), (iii)

8. A social sclence teacher may make linkage  \_38. e mﬁwﬁﬁﬁﬂmﬂﬂﬂﬂm

geographical concept while teaching history. This kind of
pedagogical strategy
{A) would promole misconception among the learners
(B) would negatively impact learming as it would
impose additional burden
(C) would facilitate learning by promoting
interdisciplinary approach
(D) would neither impact 1o promote nor to creale a
hindrance in leaming

29. Which of the following is NOT a relevant reason
for assessing learners before presenting a lesson?

(A) To assess the readiness of learners for a lesson

{B) To make the leamers aware before presenting a
lesson

{C) To facilitate teachers to praclice core teaching
skills

(D) To-form different learning groups among
the learners while adopting collaborative
teaching-learing

ﬁmmw@muﬂmm

(A) Frwdior aog sreyma 3 Fame aqafe =
(B) wiefres «3ape fivram Bea cfeass gem om
w8y =g gfRE (inerdisciplinary) Wi Fars

waive o i
(D) 4% Frterz =1 Bfite Tars <mmz =1 AvwE s im

v29. Fwilive Fme 1 Sergrera ! wom PoR W E
mﬁmmﬂmﬁ:mmﬁ

(A) Frm@iors srdorrr =gy asi =m 3
(B) * Borgivga o Frmifior s w0
%:;vjﬁtﬁ!ma'{nﬁﬂmu{!hﬁamﬂ

R 2]
(D) Fermd Few-Frars Frniom: fro fom fon fren®l
TR T

30. In which step of 5'E’ model, studenis conduct $ 30, 5‘E' Wwrew ooy Frwn @ Afiersm wodne =9,

activities, predict and form hypothesis?
(A) Engagement
(B) Eleboration
(C) Explanation
(D) Exploration

AR AT A AL R i T o
(A) Frgfsnt (Engagement)
{B) Tagfeam (Elaboration)
(C) T4 (Explanation)
@) W (Exploration)

-
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ﬁ:ﬁ:ﬁlﬂﬂlﬁhﬂﬂﬁmnﬁ!mﬁrmmn
T et) 7w S Prliew = :

ToEmEn TR W i e, e st ey e e 1 I
BIF T | I3 S1OW £ W0 W0 (TAY', T il —

(ITE) ST (50 WY I | SEIE TT ey aae

IR | SELNITET SRS e st sitem coirere g

WO WA (A fen ) wrreds PR S

T T NIRPT F R S50 (TG A1z eetisy @ By

m-mmmmﬂmmmmﬂﬁaﬁm

mﬁuﬁmmmﬂcﬂmmmmmmmg

"ﬁ*ﬁiﬁmmmmmiﬁamwmm

o R O CoMieT ST TR | R o g, R
;& T A S (A 941), W9 ¢ o Sory
1

Hﬁﬂlﬁwﬁnmmﬂlﬁnmmmmm
coTTE Bord (7% | WARe Bued % e (= %), wae
(= BRRESTR), ¥ (= 7391, Siv), 2w (= oo, ),
B (= a0), oA, 368 (= $1w, 5fiwmt), 778 (= 0,

i), fefum (cdem, srfierm) Renfi | mers wm s 7w -

o (g @)1 e @, e %" (=sm, =, o),
I ( P, =, T g T (= 31 6 o
wr}—wﬁmmmmmmmﬁﬁmg
"ﬂmmﬁnm"mwmmﬁmmy—
o, Fha—derr g (WEE), Si—ae 15, T—dnpy
G TEni, Fe—eieE ofE (e Yo, wliwm—
TP R, TG Y, T —aEs (= ) e,
FETE—TeT (I cdrer) ) o O u el G
AT, — T (FEein), ‘ofien’, el adie oof, ‘Fed
wifie o 71 fBus | ’

e v ot @ TR 75 O P AL T v
(e ¢ " HA)) &% W T TS Wiks 3R Bem,
ol fin ‘e’ | i WA s ‘Tf% we w9 1w
O FE ¥ AR TS, 1 B B-Fix Boww w0m oA

31, ATHTY ACRH SR (THA A YIARS AN Newl oioe—
- T e Tefe Rarm avwgem wg ot
b (4
(i) TARE W Wt s
(i) ORI gS e
(iv) R sme ot 4
—wygoim Ty oW el Al
oG (i) @ (iii) A
(B) (i) @ (iv) 7w
(C) (i) 8 (iii) 7=
(D) (iii) @ (iv) ¥

22, srieq wepn e it Wy cete s
(A) T3, (IR, %, WS
(B) onm, =i, T3, 3%
(C) 2, e, -4, ORI
Wby SIl-41R, T3, ¥, R

B3, fiw ewa fispofin g (o=l ks e
) =fa = fak
(B) =48 = $r55
NG amg = J5G
(D) e = oA

3, “Tow AU I (avem e )" e
et = ww e

(A) T w= ofim

(B) %2 w0 of¥m

WeT WrEa w ofim
(D) *fa7 v ofiw

35, gy, T el — o il wd e
(A) 1 Hem TS (SUR WY A
BT T3 N6 TE T WA
(C) 417 41aTT TS (SUF WE 3
(D) ¥R 4167 TE T ]

i:&. HRTIO SRPITA % C1 O T S fies oY il
T

(A) =t Pafay oy
BT M e e

(C) =g s, et
(D) e i et

' 87, “wfiey el T —
(A) B, «ihm
(B) SRR, T
“$CF fomrrm "m, wemm
(D) =™, $1pw

\38. It SEPIT Wit ATy (ol B wior e
- (A) T4, CTAR, Ty, W
B 9, (TG, W e o3
(C) TRrE, 158w, 719, Crrmgs
(D) W, 707, weEa, 19

w39, W‘Imnﬁmﬂmmmﬁm
FATEA ¢

(A) & P

(B) 3. Bt

ey e

(D) R =G
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ok 1 RefrfRe ST b o w28 ewolim (40 cors 41, “TwEPITR GRS GTum ove T A — — Pz
45 47 ep) s Swn Frdies vy ud #e

iR T3 CuODT e, e 2 g, (A) Fyfe v

wrara gz 7l e w2 elrara combn (). Mvd STER AT

i o it 7% ) A e, o i

s TS wieb wrews (Mt 50w

B et =nem Fn ol dum ym

A FieT pevE o F o e o 42. b1 e fim 3 = A carey'— fmre ol &
ce-wem Yo o Regfie s wrdtn =

i3 "eira owe I o T v
FNCPICTR T A g 2
T o oF e o o vem

o it v T B, o e
WA A, T 0 W Al

AWLAEA (516 CAdm o¥S Nz shen,

ForH ST ORI T T T
carSRamA T (AU BT +TY #ITY,
T ) ors fefraarer e
“wify 41 TETETS FrersT WA,
eReTs 18 i Tanefe i

. RN ST AR I AR T,
@t i cve®a T
fice e P, = TR A ohi—
gt R o TR o0 o ool
B cOTH TETO A WHADTS,
AR (B A 7o) - |
T e it A TwAEm
mmwmmﬁMI

s s Wi Bem Sen dr
Ao o *oca B e
Bivr Sz it ofc@ e TR o,
T T (5P T Brereloe W
AEER AT wrst i oo w
ST TS i SR e |

40, VAT COTW, WHI 09 WA W con'—
frrrd fimten® & ety o ok w2

(A) Fofrs e
o8] e 'R

{C) ATAwS TR

(D) Bepmirgs =R

(A) Prargame Ayl @
(B) SRS TR WA
\{Gy ACTEe T wTR
(D) feraares T waw

A 43 W T om 3R S W — fmre o W
wrii oW

- i) T T (B) ¥ fpmd

3T warere femd (D) ey e

A4, i o TeTeTS FreRTGR T — T e o
(A) g By AR
(©) TR “B) I

WI5, ‘(TSRO TR CTY UM R onw’'— carpewf
e o 7 W oo 7l oo M v
(A) Aeamw o w (B) ez @ e
W) o o fafam (D) =feaz ¢ Giem

46, Frm @l ‘wsR wTs 97 (Emergent Literacy
Stage)-a 7% X TR A?

i) TR offiE mey

WB) e I T e

(C) fafen fafrm am @

(D) *™ @R A

w47, Foet e e o P wfiem =i, 00n Wkt
o Fafeft fiwe

wA) T o frarafie «5f wpEt wE T

(B) =ffire fot-az g S TA

(C) 1o FATE A1 GIeR ez TIH TS T3

(D) e My Frem = oy firs
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W (Reading disorder) fram wwn wE freffie o

TP TS T o vy
(A) =afm (B) oo
NG Temfamnm (D) =fwn

\58,
ﬂﬁ?qrmmaﬁwﬂccmmu of Language)

W) ST == e e (Sub;
- ubject) cTE cwEd iy
(B) ;:m FCE S N (Subject) Frem com cne

(C) &% 561 (Content Sudies) Trafrem ==
(D) = fpra o s e e vy T
it 0wy mewra smrem 2

e WA A ¢
(A) s (B) ==prem
@) T (D) =

B2, T e Gfefee fira
o ; Sowmoiie Ty o Soenft
(A) =werom 3%
(B) oy FwTarrs waym
(C) Frw8ire e ot wmw T3 7y
D) M1 (Text)~ax i wrafdes Trmoan #ewmm 3
e = =m

\S3, Tomt e Wi et e/ fifem Pl dtfive e
e AW (T T TR R e o e Ay

(A) 7o/ Rt oy
(B) @3t v Twfifen o
(C) ol (M.C.Q.) 2

o) o o

&4 il oo R winl sy ey e
(A) Bomf (B) Frgm
“&y T (D) =%

55, frma-frea e (Teacbing-Learning Material)
g (o= e o el
(A) TEwnE)
(B) T
(C) P txfe
WD) Foars 7w 7% (Coniextualised) S TORYERR
L

F6. enafi Frer oo srgeTers Fewt orew ae &y
() TTEETR T 7% T R
(B) Tef¥e Trtofine s (et o
(C) Srparen Frevis T2 g wie
(D) wfesrren e b om

57, Ffimemin w faws/fafew arfie 7o wa-uie
vl wom wner e Frfarfiee frnofr s — s v fime
word Wi dre orera, el wow e sfew T enftoe
Tt T, g8 wm S e wITRE AT e et R
% wfren Soeg &

(A) Frelirs Rfen == e

(B) e 7w =frafir =n

(C) T i o) wgT =

mjm:ﬁmﬁﬁeﬂmamm
e

I35, IrEm e cerm—
o firrs/fafow 1o, w1 o% @ S
. Muﬁhm,mﬁﬁ
t'rﬁhrmeﬁwmﬁmﬁnﬂﬁ:wﬁr#qmt
) FT wwfe
(B) =l sufe
(C) Rz wgf
(D) ==l e

59, Mﬁﬁﬁmﬁmmmﬁwfﬁhwﬁ
Felioa o Terfive smwwer TS (Assessment)

(A) T TwTew «B) s TEm=s
(C) FEITTD TRTER (D) wrHTE Teen

w6, WMFMWMW
(A) Foiftze o5 P8 wemeres Bfts = o
(B) TSR AN Tawe =
(R Sl s R S E T P —

HRE B
@ e Rmlive e figm wn

[10]




PART—C
Language-Il—Engiish

Read the following passage carefully and answer
Question Nos. 61-68.

The victory of the zmall Greek democracy of Athens over
the mighty Persian empire in 490 BC is one of the most famous
events in history. Darius, King of the Persian Empire, was
furious because Athens had interceded for the other Greek city
states in revolt against the Persian dominauon. In anger the
King sent an enormous army Lo defeat Athens. He thought it
arwald bs (eypels ot io golly (he tebalieus pert = ot
empire. Persia was ruled by one man. In Athens, however, all
citizens helped to rule. Ennobled by this participation,
Alhenians were prepared 1o die for their city stale. Perhaps
this was the secret of the remarkable victory at Marathon, which
freed them from Persian rule. On their way to Marathon, the
Persians tried to fool some Greek city states by claiming'f.-o

have come in peace. The frightened citizens of Delos refused
[ is. Mol wanting to abet the conquest of Greece,

not celurn unty the 18N5

%ﬂ fled from their cily an
d l=fi.

61.. Athens had the other Greek cily states
against the Persians. :
(A) refused 1o help (B) wanted to fight
W€} intervened on behalf of (D) given orders to fight
62. Darios took drastic steps to the
rebellious part of the empire.
(A) weaken (B} conquer
(C) destroy D} calm
63. The people of Delos did not wantto _______ the
conguest of Greece. _
{A) end think about
M) support (D) day dream about
64. The people of Delos ran away because they were
(A) bold (B) wise
] impatient ) annoyed

meaning of the word *‘Ennobled’ as used in the passage is—

« \MET squirrel
65. Which of the following options come closest to the %.-70, Little Rakesh was

Read the following passage carefully and answer
Questlon Nos. 69-75. )

It was a cold, wet and windy March evening when Prem
came back from the village with his wife and first-borm CRIId,
then just four . In those days, they had to walk 1o
the house from the bus stand; it was a half-hour walk in the
cold rain, and the baby was all wrapped up when they entered
the front room. Finally, I got a glimpse of him. And he of me,
and it was a friendship at first sight. Litule Rakesh (as he was ,
{6 be called) grabbed me by my nose and held on. He_did not
have much of a nose to grab, but he had a dimpled chin and [
played with it until he smiled. . :

The little chap spent a good deal of his time with me during
those first two years in Maplewood—leamning to crawl, 1o
toddle, and then to walk unsteadily about the little silting room.
I'would carry him into the garden, and later, up the steep grlaw.-l
path ta the main road. Rakesh enjoyed these little excursions,
and so did I, because in pointing out trees, flowers, birds,
butterflies, beetles, grasshoppers, et al, 1 was giving myself &
chance to observe them better instead of just taking them for

granted. s s
In particular, there was a pair of squirrels that lived in the

bismkmwmbdemmmtrgfsji%"m—lju?_mﬂn&mws
though common down the valley. This couple must have come
up for the summer. They became quite friendly, and although
they never got around o taking food from our hands, they
were s00n entering the house quile freely. The sitting room
window opened directly onto the cak tree whose various
denizens—ranging from tag-beetles to small birds and even

an acrobatic bal—took 1o daning in and out of the cotlage at
various times of the day and night.

% v9. The animal which is rare in the place mentioned in

the passage is
{A) tiger {B) bat

(D) 1ag-bestle

when he saw the
narrator for the first time in his life.

(A) worried B frightened (A) two years old 87 four months old
(C) panicked VD) encouraged (C) four years old (D) ababy of one year
66. The word ‘abet’ as used in the passage means— 4 7], “Etal’ means : '
AT fight (B) follow {A) also (B} cither’
) assist (D) share (C) but ‘sD) and others
# _67. ‘Persia was ruled by one man.' The underiined word 72, The synonym of ‘denizen’ is
in $ sm::ce is an example ?;} Adjective {A) army (B) students
o e (D) Adverb &) occupants £B) animals
b s fenspat () — Picala wis Mioaratic - T{SA]ln“:ls ﬁ?n Litile R:Eh h“:ﬁ accompanied by
Statement (il) — Athens was democratic (C) his brother (D) his friends

Choose the right option:
{A) Statement (i) is false, and Statement (ii) is true
B Statements (i) and (i) both are true
(C) Statement (i) is true and Statement (i) is false -
¥BJ Both Statements (i) and (ii) are false

%o 74. ‘Finally, I got a glimpse of him.’ This is an example
of an

(B) interrogative sentence
(D) exclamatory sentence

WA aszertive senlence
(C) imperative sentence
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PART=C
Langnage-11—English

- 78, "1 would carry him Into the garden, and Inter, up
the steep gravel path (o the maln rowd.” This sentence is
an exarhiple of '

M) Shinple pust 1enso
(M) Past porfoct tense
{C) Past continuous tense 3
(D) Past perfect comtinuous tense

76, Llstenlng comprehension Is afan
P oA pamsive skill L) nctive sKill
2 {C) productive skill (1)) reasoning skill

% ~F1. Baslc skills for langunge lenrning comprises of
» (A) speaking, remembering, listening, spelling
M lisiening, speaking, reading, writing
. (C) speaking, fruming, writing, analysing
(D) speaking, thinking, reading, writing

A \.38. Themenning of n word In a passage depends only on
(A) lts dictionary explination
its contex
(CY lis origin
(D} is spelling

+ ™. Which of the following Is not true for second
language learning and nequisition in direct method?
(A) Socio-cultural differences constitute the principle
factor in both,
(B} We do not use translation method for bath.
A€y We use mother tongue for both.
(D) Socio-linguistic Mwelor is essential for bath,

+ 80. Which of the following Is the principle of teaching
grammar In n second language clussroom?
wiA) Leamers should be tought anly the aspects relevant
for communication.
B} Learners should be taught every grommatical aspeci
thoroughly.
(Cy Learners should be taught the art of scaffolding.
(D) Learncrs should be taught only translation,

% ' 8l. Whaot should be emphnsised in assessing second
langunge proficiency?
(A) Correet grammar
(B) Correct spelling
Ahbility 1o use second
(D) Correct writing

¥ fi2. Which of the following is not a principle for second
language teaching?
" (A} Prompi feedback
(B) Conlinuous assessment
&) Memorisation of the rules of grammar
(D) Useof dilferent comexts

language in dilferenl contexts

# .39. Sitling arrangement in a diverse second language
classroom should be
{A) fixed

. W Mexible but planned
(C) fixed but planned £

(D} fNexible but unplanned

*#\-84, Which of the following TLM is most essential for
nn English teacher to carry to the classroom?
(A) Dictionary
(D) Chan
W) Texibook
{2} Model

# 88 According to NCF (National Curriculum
Framework) 2005, multilingualism in a language
classroom should be seen as

(A) a challenge to second language teaching.

(B) o hindrance 10 second language acquisition.

(C) a shoricoming in second language teaching.
(B a resource.n teaching second language.

“86. Which of the following activity is most appropriate
In developing language skills?
(A} Watching lilms
(B) Reading storybooks
&) Panicipaing in cultural functions
(D) Preparing school magazines

% “#7. For teachlng n groammar item a teacher begins with
examples, and then with the help of examples, she/he
clartfles the rules. After that she/he asks the students to
provide more examples and provide clorifications. The
teacher here is thus using the
(A} Deductive method

Wil Inductive method
(C) Inductive=Deductive method
(D) Dircct method

BH. Which one of the given alternatives is not true about
language acqulsitlon?
{(A) A child uses the language comectly without being
conscious about the prammar rules,
(B) Lunguage development takes place in a namral selting,
) Allective factors like anxiety, sell-confidence, elc.
are not involved in the process.
w3} Instruction from expents is required,

89. Immediate correction of errors is encouraged in
X)) communicative approach

(B} translation method

42) community based language lcarning

(D) project based method

® \ 987 The purpose of remedial teaching is to

{A) introduce new language items
(B) test recently taught language items

&) teach again the language items not properly learnt
{D) teach again the language items already learn;
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%/? ﬁ"@ 'g/??l " Rt f/"%‘%& %FV@@N‘

. Mathematics
English Version Ben g;i.! Version

91. Ram can finish a piece of work in 6 da wwrn A B w6 fion o

ya dol g1, efifia 10 w0 1w

10 hours of work in each day. Actually, after WnrkI:: mm.ﬁmmmmsﬁnmmmnwﬁﬁwﬁp
3days (10 hours a day) he starts working 6 hoursa dayto  efffi 6 0401 wes ¥w ¥ | I e s W AW 40

finish the rest portion of the job. Then the total ti
would require to finish the job is e (A) 10 4] 8Fm 3"{;/" &
(A) 10 days (B) 8 days ©) 12 (D) 15 = Vot
() 12 days (D) 15 days w*
92 Let A =(666% 123 + 1) x (66 x 456 + 2) + 1 and 92, ‘@1 W, A = (666 x 123 + 1) x (66 x 456 + 3) + 1 ,'&'3
B=(33x578+2) =% (333 x 734 + 1) + 1 then S B =(33%x578+2) x (3335734 + 1) + ] T, ?f)-?t'l
(A) only A is prime (A) QYT A ClErS &
{B) only B is prime (B) wy= B (s - ¥
(C) both A and B are prime . %ﬁﬂﬂmm }’gr
(D) none is prime D) comitR (e A 0\ 4
93, (0-1 =0-01) % 0-11 x (0-01 + 0-0001) = - w93, (0-1 - 0-01) x 0-11 x (0-01 +0:0001) = ¥ 09#
(A) 000009999 (B) 0-909099 \eF0:00009999 (B) 0-909099 /661"
(C) 0-10101111 (D) 000000099 (C) 0-10101111 (D) 0-00000099 \
94, The sixty second decimal place In the decimal o4 22 - ifiTe e 3TW 6239 P R T WA ¥ E;"' 0
tation of 2% will ha S ' "fk@ﬁ
representation of == w ve the digit (A) 7 oD 4 4
(A) 7 (B) 4 © 2 (D) 5
(© 2 (D) 5 oD
. 12122 (L ¢ L : | 121212 % [+ + =L )n ¥ O‘ﬁt}eo\:
98, x (ﬁ + lﬂﬂﬂﬂ) = LI5. (llH]' 10000 0" (]
(A) 4214-1222 (B) 1224-2412 * (A) 42141222 “B771224-2412 y
(C) 1212-1212 (D) 2121-2121 (C) 1212-1212 (D) 21212121

96. Ram loses a 100 m race to Faruk by 10 m, Distance ~ “96. 100 m (s efermfirers 7, wme= e 10 m-a x| 0O
that can be covered by Faruk when Ram coversadistance  ami am ¥ 99 m R s spcm vm aewm g e+ B0
of 99 m s (A) 10m (B) $1m 0

(C) llm (D 12m \
97. Which of the following does not represent the 97, fewn i oot fargrem e Reafba tnf) ervmt wew
lengths of the sides of a triangle? oA T
(A) S5em,6¢m,7em  (B) 2em, 5cm, 6cm {A) Scm,6em, 7em  ¥B) 2em, Sem, 6em
(C) 2em,3em, 7em (D) 3cm, 4cm, 5em ME) 2em,3em,7em (D) 3em,4cem, Scm

98. The digit, whose place value in a number, does not I8 AU WY TN (R WTNE A W ST oW 3

99. If the sum of all the proper divisors of a natural x99, Wit wef yrwif s 7w Tad Sesmrren 7 gl
number be equal to the number itself, then the number Is  fraft W, ¥ At fnds i )
sald to be perfect. oA, 6-a7 v Georwmalin 1, 2 a7t 3) adR,
Fw:mph.pm?ﬂffﬂm"“”mlizmdlﬂem 1+2+3=6.. 6@ firde

1424 3=6, .. 6Is perfect number.
Therefore, for 42 and 28, we can say TR, 42 9 28-07 W w1

. (B) None is perfect (A) 7% il Aem }mvmﬁtaaa
EE; fﬂ::ﬂﬁfﬁi (D) 28is perfect but 42 (C) 42 P fg 28 T by 28 ffm g a2 73
- 2B is not i5 nat ’
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S . ’
O @ PART—D .
Mathematics !Lﬂ‘ ;
English Version ﬂgngﬂﬁ Version g—f-
100. ¥ o —180. & * ‘-d{ "I
. e P iR & Fiort .':".. ey aooomd 7 ER
I L 3 T T4 \/
. L 3 6, 10, .... are triangular 1, 3 6, 10, ... @t fargw AT ST -
numbers. The tenth trianpgular number Is wrn firge it 1
(A) 42 (B) 50 (A) 42 (B) 50 5
(C) 55 (D) 100 LT 55 (D) 100 i
101. Mihdﬁﬂedm'nmgﬂlpeﬂmmunmhﬂ, 101. orﬁ{mmmﬂjmmnﬂﬂﬂml
The least value of n Is n-43 ¥m aE T
(A) 2 (B) 3 4 2 (B) 3
<) 6 {D) 12 JE) 6 (D) 12
102. The digit in the unit’s place In the product of 102, et 100f GRS TLATA QIWTHA P YT W T
first 100 prime numbers is (A) I (B) 3 9 1Y £ :%
{A) 1 (8) 3 *E) 5 g 0 ,
© 5 (D) 0 B

103. The proper sequence of the names of the three angles
220°, 180°, 75° is

(A) acule angle, right angle, oblusc angle

(B) right angle, acule angle, straight angle

(C) reflex angle, obluse angle, acute angle

(D) reflex angle, straight angle, acute angle

104. What is the difference between the place values of. \ 104~ 1715271~ 7 {2 Tiw s sym T b

two 7's [n 17152717
{A) 699930 {B) 996930
(o (D) 30699
105. Som of all the factors of 100 is
(A) 216 (B) 117
(C) 223 Dy 217 '

106. NCF 2005, recommends that teaching of
mathematics at Primary Level should focus on
(A) Preparation for higher mathematics
(B) Helping students in correlaling the classroom and
in leamning with daily life
{C}y Helping students to achieve international standard
of leaming in mathematics
(D) Abstract concepls of mathematics

107. Which of the following conceptual staiements should
come first at the time of teaching Mathematics?

(A) “Zero’ is to be taughl with the first set of numbers.

(B) ‘Zero® is to be taught after making learners
acquainted with digits from 1 10 9.

(C) *Zero" is to be taught after making learners to
acquire the sense of natural numbers and binary
operation ‘sublraction’.

(D) “Zero’ is to be taught while teaching the place
values of digits in a number.

-

R

{(A) T, FRCE, T
(B) FETw, TR, AAATHH
(C) =rpaeet, T, T

™

WA 699930 (B) 99693
(Cy O Dy 30699
®) 00
105, 100~ 70 Sesmwoiin Tafl
(A) 216 “8) 117
(C) 223 “B) 217

106, NCF 2005, fofa wepion etufis wea sfte frer e

"™
(A) Bgmz e Serm® = rom
Wﬂﬁﬂﬂmmmww

Prettts ot
(C) P wryeifes i S
(D) =Fre Fgs arao =ms 3. =

107. ﬁﬁwﬂmmmm cataftn
een ) B ¢ ' e

tA) T 29 A G Wex o T
{B) 1 (9% 9 % wwof Wiy .
ﬁﬂﬁ Ehﬁ | e B Cigt L
{C) WIS At T vy @ snffee
‘ﬁmwmm‘-ﬁu'-amqﬁﬁmmﬁ?
(D) mﬁ!ﬂﬁ#ﬂﬁmﬂmhﬁy.;mm
AT |

(28]

103, 220°, 180°, 75° ema cae i wey Forgm ammafim e

h O
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PART—D
Maihematics

English Version

108. “Mathematics i the mirvor of civilizatlon.”— Wha

said this?
{A) Heghen (B) Bacoen
{C) Whitehead ({3} Berthelol

109, In order to teach the concept of ‘ndditlon of
fractions’, which one of the lollowing questions a teacher

should prefer first as an example?

110. Ifateacher wants to share the concept of the formula
‘la + B = at + 2ab + b, which question among the
following should be raised to evaluate the previous

knowledge required for the content?
(A) 17 = 169 (T/F)  (B) (%]1= 2 o
{C) 6F=649(T/F) (D) 5x5=5" (T/F)
[T means "True'F#e1'; F means ‘False'rfR4r]

111. Which of the following symbols is unique for

mathematical language? ’
(A) ? B) @
(C) % Dy &
112 ‘Draw a geometrical figure.'— the level of the
question is

(A) Knowledge based
(B) Understanding based
(C) Application based
(D) Skill based

113. In order to motivate a learner to learn geometry,
which one of the following is not required?

{A) Problems arising from life

(B) Folding of papers

{C) Mathematical game

{D) Complex problems on geomelry

114. Which of the following statements is incorrect for a

cirche?

{A) "The chords, equidistant from the centre, are of
equal lengths.’

{B) “The equal chords of a circle are equidistant from
the centre.’

(C) “The straight line segment joining the mid-points
of two parallel chords of a circle always pass
through the centre.”

(D) “The siraight line joining the mid-points of 1wo
parallel chords of a circle must pass through ils
centre.” :

L]

Bengali Version

108. “nﬁummnvhl"—qmmﬁr
w&) Heghen 8} Bacon
{C) Whitchead {n) Berthelol

. sl caEn WA caicara o e/
h:ﬁﬁwmﬁnmmmmmmm*

o

.
(<) 3k

“HO. mﬁlm%ﬂfﬁﬁﬂ {a+ 8 =a+2ab + piam
et i s = Foosm ool e oy eirurerA el

e W%~ w) T
(A) 1¥ = 169 (T/F)

(€) 6T =649 (T/F) 4B 5x5=5 (T/F)
[T-3 = *True'r#er'; F-1 =4 *False'/fast’]

() {%}2 = (TP

i1l Fefifisofin Ty A el sfives wmm =g
CEATHIE AT ¢ A
(A ? (B) @
=2 % Dy &
112 ‘waft wnfifes Ba == w0 '— e g @
(A) QTS
¥B) (IS
(C) SaMAEAs
(D) PEIRS

Q1. el Frern e @ts aow oo wnnes P itz
e ofe L

(A) =R (eez TS T

(B) T sle

(C) =ifEw oyt

B wnfufd Aerre wits om

M, T8 W Aea (o fRfRl e ame b

1A ‘o (urs ATy =S e wn-0a W Aem
£

) AR e ) 0ET (R (N A WA

(C) ob o= Aargam w-a9 Sy Ao e
s qoen cemd m '

(D) il 1oz FuTa wl-aa TR A TR
el qoes commi = 0

[29]



PART—D

English Version

115. Given statments are—

() two angles are complement of one another i their
sum s 90°.

(i) Complement of an angle of measure 70° is an angle

of measure H°,

{(ili) Complement of an angle of measure 20° is an angle
of measure 70°.

(iv) Complement of an anghe of measure 90° is an angle
of measure 0°,
In order to share the concept of complementary

angles, a teacher should prefer the order

CA) (i), (i), (i), (iv) (BY Giid(iii), (ivd, (i)
(C) (i), v, (0 G (D) iv), G, G, Gii)

116. To evaluate the length of the path described by a
circular wheel by a complete rotation, we need lo evaluate
{A) the area of the wheel
(B} the circumference of the wheel
{C) the measure of the circumference of the wheel
{D} The length of any chord

117. Let p be a prime number. Given stalements are
(i) p has exnctly two distinct factors.
(i) p=1
{lil} p musi be odd.
(v} p=-220
Which one of the following is the set of true
statements?
{A) i} (i (iv)
(C) {iv), (ili)

118. To share the knowledge of corresponding angles we
need to consider
{A) a pair of parallel siraight lines only
{B) a pair of parallel straight lines and a common
transversal
{C) a pair of coplanar straight lines (may not be
parallel) and a common Iransversal
{D) a pair of intersecting straight lines

(B) (i), (ii)
(D) (i), ()

119. Which one of the following is not a characteristic of

" mathematics?

{A) Uncertainty in result (B) Correciness
(Cy Originality (D) Truthfulness

120, Which one of the following is not an essential
characteristic of formative evaluation of mathematics?
{A) Judgement on content knowledge of mathematics
(B) Elemination of fear of mathemalics
(C) Self-evaluation of leamers
(D) Time consuming

Mathematics

Bengali Version

S, evs Fafeafn w—
i} 7 e ver o T Wi wom iR 90° T
G 70° wireen T e (e o T 20°)
¢} 20° s cotee v e e W1 70°%)
iv) 90° wFarTem coree v e v @ 07
% LA WAl CROTm T o /i
Wi Ffeafin frafifae com i wes »m Sfewr
(AY (i), (D), (i), Gv) S8 Gl G, (V). ()
(C) (i), (v}, (i (i) (D) Giv), G G, i)

6. S TEwE sem gl o pim sfewy svem e
fem e T W e

(A) BTET2 (A

i) s fafa

WC) s offafea i

(D)} @& A Sr-a3

117. wn W, p awfb i s e ffeofh
) p-a% oyEa g s Serivs SR

Jii) p=1 P +D e \ L-
{lil} p SO YR AW g<T
iiv] p=220 {P
o ol s ffm ol ¢
(A i) (i), (iv) wB) (i), (ii) '
(Cy Qv (ikiy (D) Ciid). (i)

ALEB. SR GRTOR WM W) e e eoetem
(A) DD STCETG YA AETEE NaEE
B STETE TSR WArYEW e o1t a5 e
(oL

(C) TG Aweiie TAE (T TEEe T
o) 99 aafl Aan o

(D) S50y ==t waemn

w119, Fefnfeofm g colt wfices R e
) T sReerE  (B) Brgem
(C) ciftferars (D) fewge

“120. Fwffaw col swfieen s1ffs e (forma
evaluation) wofing? 2afg 1w » : s
(A) R frras Wit R
(B) wiwdife giemy
(C) Fwd 3=
D) FUTATHS
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PART—E
Environmenial Studies

English Version

121. Which one of the followlng Inte
had been designed in 1987 to pr:lut lhr::lillj:nn:: :ﬂﬂ
{A) Kyoto Protocol
(B} Copenhagen Accord
(C) Paris Accord
(D) Montreal Protocol

122, Which one of the following gases |s a natural
greenhouse gas?
(A) Oxygen
(B} Carbon monoxide
+*'(C) Nitrous oxide
(D) Nitrogen

123. Which one of the followings is associated with
‘Blackfoot disease'?

(A) Mercury
(C) Cadmium

{B) Arsenic
(D) Selenium znd Tron

124. Thecharacteristics of environmental education were
enlisted for the first time in—

{A) 1976, Thilisi conference

(B} 1977, Thilisi conference

(C) 1977 Belgrade inlermational workshop

(D) 1972, Uniled Nations Conference on the Human

Environment, Stockholm

125. Which of the following animal fs the state animal of
West Bengal?

{A) Fishing Cat

(B) Squirrel

(C) Royal Bengal Tiger

(D) Ganges River Dolphin

126. Which of the following palr is not correct?
(A) Architect — Sun Temple of Konark
(B) Architect — Rashmancha of Bishaupur
(C} Architect — Temples of Khajuraho
(D) Architect — Ajanta Cave

Bengali Version

111, fmfifire wrewfifes pfoofim ol 1987 ATm eTuA
A 7w A v i wfim
(A) Taomd cenibian
(B) GREARGELSA QN6
(C) e wmd
w0 wTm canbian

122, G symrafem s carm it G el e
WAy

(A) e

{B) ¥ TGTREE

WG AT TEltE

(D} ﬂfb:m!m

JI23, Grafifargofim (oM Tyl Ffurn'~om T Aoi¥e 2

(A) Trfa i)
(C) wmefama ()] mﬁmmm

24, i frwm Tatiom e Tfiege T—
(A) 1976, Bafmf ST
By 1977, Bafaf s
(C) 1977, PTG GrYuiTes T
D) 1972, 3EAEET (T FATIW WA EEAM
LB ARG, Fwraa

w175, Fmfifs @ enfift wfeaarm g enfie
A maram (P =)
(B) wrafagrie
(C) Fmm (o iR
(D) AT oos

¥ a
26, Srsx oo canrgf® Afbw ame
(A) o] — CFRTETE q¢ TRE
(B) o] — v araw
(C) WP — T WP
b)) T — TE o
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PART—E

Environmental Studies
English Version Bengali Version
127. Which one of the following fertilizers contain  \127, Frnfifs xwofm s ol T Fifewedh
nitrogen fixing cyanobacteria (Anabacna)? AT fim (s P ofds o
(A} Azolla biofertilizer i) TCETT T ‘e
(B Dung manure (B) comem o
{(C) DAP (Di-ammonium Phosphate) fertilizer (C) DAP (SfE-syairm wet) A 2
(D) NPK (Nitrogen-Phosphorus-Polassium) fertilizer (D) NPK (FTceA - =BT ) A '

12hl

128. Which of the following statement is correct 128, eiufisgm EVS mﬁmmﬁlﬁﬁlm;:=

regarding the curriculum of EVS at primary level? g R A :

{A) Inthe primary classes, topics of physical and social (A) =nefirs c=fiee e & A e o wge
environment should not be included. wm &fs :

(B) Experiment based teaching in class should not be (B) ceftare sireafofis Frami = e T
included. (C) frmora Jm S wyde T B T T

(C) Children should not be involved in such activities Fwrie e e v e W
which increase their creative and cognitive W) =i wra, EVS Frems forn e fror-somertien
capacities. frft wwdw = ERs

(D) At the primary level, EVS should include the
topics of gender and gender-sensitivity.

129. Which on¢ of the following objects are “129. Faffawafim csa o= wwofn S =firare wft

non-biodegr; wastes? (A) wawifEa curan, s, e
(A) Vegetable peels, Leaves, Pelals (B) =913 (TR0, TR W, o5 TN
(B) ‘Animal debris, Branches of irees, Rotten fruits W) uits cren, TSt TIY, T
{C) Plastic bottles, Computer parts, Balteries (D) TS T, CHIETS 6], FTHD

{D} Paper waste, Food waste, Compost

130. Which one of the following animal speciesisnotan  130. FefrfRwofin ooafb arsfics eranfin enfe Swne e

example of endemic species? (A) afimfts fm, owe

(A} Asiatic Lion, Gujral

(B) Lion-tailed Macaque, Western Ghats
{C) Muga Silkworm, Assam

(D) Leopard, Maharashtra

131. Which one of the followings Is the correct sequence 131,

of energy fMow?

(A) Solar energy—>*Primary producer—»Carnivores
—>rDecomposer

{B) Solar energy—»Primary producer—»Carnivores
—rHerbivores

(C) Solar energy—>Herbivores—»Primary producer
—»Decompaser ;

(D) Solar energy—»Primary producer—>Herbivores
—>Camivores

(32]

(B) am=-0s Trers, sfsmai
¥E) Y EPTERY, STATT
“B) frerm, mgmy

FrfifRwofin cmlt =y s 23r

(A) T —s eneefirs Bestm— monil— Rz
(B) Cirfe— anefirs B monil—gored
(C) G gasrl— anefirs Sestime— Rrres

\B) TR~ e Bt e —swen)



s PART—E
Environmental Studies

Englivh Vorslon

(83, ‘There ure M different gro

Huch group conslein of an fm-::f:ﬁ.:'.:;:;,'f:‘:; l:; " ;-qu.

gix groups are asked (o caery out projects 'mul:" enls.

energy, nine groupy are wsked to carry oot llmjn::' 7
hermal encrgy und four groups wre ssked in r: r:n

out prajects on whid encriy. Rest of the students re ask ﬁ;’

to curry oil profects om fosall fucl, While usked tn e :

ihe disieibutlon of groups of studenis mr”:ﬂrm

rpoowable energy through n ple-chart, the correct n:r"nl:

their representution will he —

' ; H H ey {
O 0 : 1}
(A) (H) (C) (D)

R = Renewnble energy
1 Q= Hhers

133. Which of the following Ix nol o source of lead?

{A) Painl

(B) Distilled water
1 (C) Cosmetics

(D) Children’s loys

(34, The three R's to save the environment are—
(A) Reserve, Reduce, Recycle
{B) Reuse. Reserve, Reduce

(C) Reduce, Recycle, Reuse
(D) Reserve, Reusc, Reduce

135. Which one of the followings is an ecofrlendly
practice?
(A) Not using a cloth bag

(B} Using sound crackers
(C) Unnccessarily switching on lights and fans

(D) Going to school on foot or bicycling insiead of
using n private molor car

136, International Environmenisal Education
Programme (IEEP) has been launched by—
{A) UNO {B) UNESCO
{C) UNICEF (D) ULO
has become famous recently

137. ‘Kuno National Park’
because of—
{A) reintroduction of the ‘Dodo bird” from Europe
(B} reintroduction of the "Cheeta’ from Central Asia
. {C) reintroduction of the *Cheela’ from Africa
(D) reintroduction of the "Lion® from Alrica

Bengall Version

w32 mmwmmﬁmmmﬁnn
wfirm ol

e— L T R
s v wofim e B

ATy FTW ACT A TONTE 4
Mintmmmmﬁmmnqmﬁﬁu
mmmmmnm-ﬁﬁmm

fampoe el FATE

{A) wiBBT” (C) (D)
R = s heaqrnn «fF
O = YAp

133. Sea s Fome o SO e
fA) At
vy wfre A
(C) = wr=i
) faaEs oo

w434, ou Fif® ‘R TP T W, T W —
{A) At (Reserve), T (Reduce), 5 (Recycle)

() “=4==ra (Reusc), R (Reserve), I (Reduce)
Wy 5 (Reduce), 5 (Recycle), spvanr (Reuse)
(D) e (Reserve), 479 (Reuse), TA {Reduce)

\J135. Frafefiwofim el sfaceame @
(A) TIeCF WA T | A
{B) =refa W =
(C) TwEmTEE W 6 o wieE A
Wmﬁaﬂmﬂamﬁﬁmmmmdﬂmm
sifern fammen mew

\J126. U STSTIRATPOI ST (IEEP)

FATE—
{A) UNO wWBy UNESCO )
{C) UNICEF (D) ULO

wi37. C AR W 31 wrdtm Sy e e TR —
(A) Neret (e caTet -3 s[RI TETA W
(B) 99 oFm o foer aiaiiar A Sl
Nt s e s W
(D) M (U0 ‘'8 s
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PART—E

. Environmenital Studies |
| English Version - Bengali Version - o '
138, The process by which earthworm decomposes 138, (¥ eifirary ot Whate-Rosmen »fa e
| blodegradable solid waste is called— W v W W—
| {A) Composting _ (A) Tt
- (B) Landfilling (B) wiiswbe =1 wyrsirin
2 (C) Shredding (C) T
(D) Vermi-composting (D ST
139, Which of the following ls » bioindicator of air 139, Avow cwre® ATpreLen Tort FveerE?
pollution? : (A) T
(A) Water hyacinth (B) iy o
(B) Parthenium weed ‘ (C) ¥ gomw e
{C) Karabi flower Plani (Oleander or Nerium Plant} Dy
(D) Lichen

140. What should be the minimum thickness of plastic  140. siifrs weff TrEmeRl (ARTAE) farm, 2021 wARH

carry-bags since 1st January, 2023 as per Plastic Waste mummmrmrﬂmmﬁhunﬁmmﬁwm |

Management (Amendment) Rules, 20217 T T A
{A) 75 microns {(micrometers, um) (A) 75 T (FREFAEDTR, um) :
{B) 120 mimm {rfricrmmm pmj By 120 T (oG fibE, um) |
(Cy 50 micrans {mn.:rmltrs. pm) (C) 50 TR (TR, um)
(D) 20 microns (micrometers, pm) (D) 207 IRt wm) |

141. A listof riversare given below. Which rivers among  Jd1. Srrs werwo =T 719 oreT! WM | ST WL CwrA Ao
them play an important role ih the formation of soil of s wat W TR 1T o it s e |

the Terai region of West Bengal? wieamws, e, fowr, ewd, e, o, s, t
Damodar, Matla, Teesta, Ichamati, Mahananda, ¥y : ':
Subarnarekha, Ajay, Ralmangal : (A) WrEw, qadora
(A) Matla, Sﬂbal‘l'll.h'.kl.ll (B} weams, o
(B)} Damodar, Ichamati fow!
{C} Teesta, Mahananda —d W
(D) Ajay, Raimangal (D) =, AN

142. Which of the following tropical cyclone wasa Super  «142. Frufifaw o Sramolttn xthgrmaft 7o it fimr
Cyclone? A (A) O™, & 26, 2021

(A) Yeas, May 26, 2021
(B) Tauktae, May 16-18, 2021 - (B) I%TZ, (1 16-18, 2021

(C) Amphan, May 15-19, 2020 €} -, ¥ 18-19, 2020
(D) Nisarga, June 3, 2020 (D) e, &w 3, 2020
143, River Damodar flows through which of the 143, *tfwmm fww om m cwery TR
following districts of West Bengal? erfiw Tt " b
(A) Hooghly, Thargram, Birbhum, Howrah, Purulia (A) wnfh, ampars, Srrgw, wew, «pfim
(B) Purba Medinipur, Murshidabad, Purba (B) 4 =iz, gifemm, ‘;lﬁlﬂ
Bardhaman, Coochbehar, Hooghly (C) comfiem, wem, 1|r'tfili--t'1I:.llr *ifiey w:mmlm‘ﬁ

(C) Coochbehar, Howrah, Kalimpong, Paschim , wfigy
: i . \u@y o T, off T, o, waw

{D) Paralia, Paschim Bardhaman, Purba Bardhaman,
Hooghly, Howrah
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k: Environmental Studies
English Version Bengali Version

144, TnEVS class, a teacher takes the learners tothezoo W44, EVS mﬁmmﬁnmﬁﬂmm
10 Introdnce them (o caged wild animals. This activity e CoAree fofTen e fAC Coee !
comes under the purview of— . wnfiafy aow fagafes Tt
~ (A) Assignment (A) wnfem 3R (Assignment)

. (B) Experiment (B) ¥ (Experiment}
" (C) Project work (C) o F19 (Project work)

(D) Field Hsit AT O st (Field visit)

145. The maln disadvantage of ohservation based study

in gnﬂmnm:nul Studles is—
s (A) Tt creates & bonding between the leacher and the
leamer *
{B) It helps to increase the observational ability of the
students
(C) 1t is not possible 1o teach all the chapters of the

Jsubject
(D) Students get the scope for thinking independently -

146, Which one of the following is not a part of

”—

S qﬁmﬁmmﬁmﬂmmmﬁ-ﬁ

(A) m‘iﬂiﬁﬁﬁﬂﬁﬂmmm@?ﬁm .
(B) ﬂﬁﬁﬂﬁﬂﬁmﬂfﬂﬂmﬁm |

Ll aﬂ;ﬂﬁﬁmﬁammwmﬂﬁﬁﬁﬂmw
) 3 srafeos Prm i e Fwrsre 7o o

1 %Wﬂuﬁﬁnﬁmmﬁwcm

photochemical smog? (photochemical smog) el 3 ?
(A) Ca ) (B) PAN i) Ca (B} PAN
(D) NO, (C) Oy (D) NO;

TC) Oy

147. In which stage of environmental study based active

147. mmmmmmmw

research, is hypothesis formulated? 3w an e _
(A) In problem identification stage (A) w i B
(B) After the analysis of the probable causes BT ey Fte e e
{C) In research methodology stage (C) WEaRema #%is A
_ (D) In assessment stage LB) TR WA
148, B WTRIPR T AT ST —

The Chipko movement is associated with—

{A) labour movement in India '

(B) trees and forest protecting movement in India
{C) mineral resource conservalion movemnent.in India
(D) peasant movement in India

148.

Which of the following are horticultural resources?
{A) Paddy and Jute

(B) Mango and Litchi

{C) Tea'and Coffee

(D) Wheat and Maize

149.

149.

(A) SrrsT afis wHaEE

BT ETETSE T @ Wy 51e WTIER

(C) STy o e v Herwe WCHET
(D) BRTEH F95 WHER

Frafieafim el Tam Swerm e
(A) e+
(B) =@ P
) W oa ofp
(D) *ma §h

150. The vector that acts as the carrier as well as host of '\ 150. (3, W GO wferrs §ivw I & o iR

causative organisms of diseases belongs to which of the ww w02, T Frg oo e afin wde e

following animal category? _ (A) orR (B) 7
(A) Birds (B) Reptiles &) - Ak (D) wrae
(C) Arthropods (D) Molluscs
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i West Bengal Board of Primary Education

5 "Acharya Prafulla Chandra Bhavan", DK 7/1, Sector II, Bidhannagar, Kolkata 700091

No. 78/WBBPE/2023 Date: 10/01/2023
NOTICE

All the registered examinees who participated/appeared in Teacher Eligibility Test — 2022 (TET-
2022) (for Classes I-V, Primary) conducted by the Board are hereby requested to visit the following
websites of WBBPE (https://www.wbbpe.org/ & https://wbbprimaryeducation.org/ ) to ascertain
the provisional answer keys to questions of TET — 2022 which was held on 11/12/2022.

The Board as an examining body declares that candidates shall be entitled to dispute the
correctness of such answer keys upon producing their respective credentials of TET -2022, if any,
against the enclosed answer keys appended with this notice. Such exercise shall be between
13/01/2023 to 17/01/2023 up to 11:59 PM, through online portal and upon online payment of a
fee of Rs. 500/- per question (pavable through Debit/Credit Card).

Disputes pertaining to answer keys made during the aforesaid period with fees will be revisited.
Disputes raised without payment of fees, and disputes raised through any other medium (viz. email/
letter/representation) will not be entertained.

The subject experts will examine all such disputes duly filed and it is only thereafter that the final
answer keys will be disclosed in public domain. TET - 2022 results will be declared according to
the final answer keys. The decision of the Board on such disputed answer keys shall be final and no
further/subsequent communication will be entertained. No grievance with regard to answer key(s)
after declaration of TET- 2022 results will be entertained.

The fee indicated above shall stand forfeited if the dispute is held by the subject experts to be
unjustifiable. Similarly, the fee indicated above shall stand refunded by the Board, through
NEFT. upon furnishing of NEFT details, by the applicant/candidate in the event the

contention of the applicant/candidate is found to be correct, proper and justified.

v Kokl
Dr. Partha Karmakar, W.B.E.S —
D S
De%%t%eggrt:&ary
West Bengal Board of

Primary Education
Enclosure:-

Annexure — I: Provisional Answer Key of Teacher Eligibility Test, 2022 (For Classes I-V, Primary)
for Question Booklet Code: WBBPE/01A, 02B, 03C, 04D and 05E.
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WEST BENGAL BOARD OF PRIMARY EDUCATION

ANNEXURE- |

TEACHER ELIGIBILITY TEST- 2022 (TET-2022), (For Classes |-V, Primary) held on 11th of December, 2022

QUESTION BOOKLET CODE: WBBPE/01A

ANSWER KEY
CHILD
LANGUAGE| | LANGUAGEI | LANGUAGEI | LANGUAGE! | LANGUAGEI | LANGUAGEI | LANGUAGE! | LANGUAGEN ENVIRONMENTAL
DE:E;‘;Z";ET &1 (BENGAL)) (HINDI) (ORIYA) (TELUGU) (NEPALI) (URDU) (SANTHALI) (ENGLISH) | MATHEMATICS | ™o ipiES
(Part-A) (Part-B) (Part-B) (Part-B) (Part-B) (Part-B) (Part-B) (Part-B) (Part-C) (Part-D) (Part -E)
1.[C] 31. [A] 31. [B] 31.[8] 31. [B] 31.[C] 31. [D] 31.[0] 61.[C] 91. [B] 121.[D]
2.[B] 32.D] 32.[C] 32.[D] 32.D] 32.[C] 32.C] 32.1C] 62. D] 92. [D] 122.[C]
3.(D] 33.[C] 33.[C] 33.[A] 33.[A] 33.[B] 33. [B] 33.[D] 63.[C) 93. [A] 123.B]
4.[C] 34.[C] 34.[C] 34.[D] 34. [C] 34.[C] 34. [B] 34. [A] 64. [B] 94. [B] 124. [B]
5. [C] 35. [B] 35.[C] 35. [B] 35. [B] 35. [A] 35. [D] 35. [D] 65. [D] 95. [B] 125. [A]
6.[C] 36. [B] 36. [C] 36.[C] 36. [A] 36. [D] 36. [A] 36. [C] 86. [C) 96. [C] 126. [D]
7.[A] 37.[C] 37.1D] 37.[D] 37.[D] 37.[B] 37.[8] 37.1C] 67. [A] 97.[C] 127. [A]
8. (D] 38. [B] 38.[C] 38. [B] 38. [A] 38. [A] 38. [D] 38. [B) 68. [B] 98. [C] 128. [D]
9.[A] 39. [C] 39.(C] 39.[B] 39, [C] 39. [D] 39. [D] 39. [A] 89. [C] 99, [D] 129. [C]
10. D] 40. [B] 40. (D] 40. [B] 40. [B] 40.[B] 40. [D] 40. [B] 70. [B) 100. [C] 130. [D]
11.[C] 1. D] 41. [A] 41.[C] 41.[D] 41.(0] 41.[C] 41. D] 71.10) 101. [C] 131.[D]
12.(D] 42.1C] 42. D] 42. B] 42.[C] 42.[A] 42. [B] 42.1C) 72.1C) 102. [D] 132.[B]
13.[A] 43.[A] 43.(B) 43.[C] 43. [A] 43.[C) 43.[C] 43.18] 73.[A] 103. [D) 133. [B]
14.[D) 44.[D] 4. 8] 44.[C] 44. [D] 44, [A] 44. [A] 44. (D] 74. [A] 104. [A] 134.[C]
15.[C) 45.[C] 45, [B] 45. [A] 45. [C] 45.[D] 45, [B] 45.[C] 75. [A] 105. [D] 135. [D]
16:[C] 46. D] 46. [C] 46. [B] 46. [B] 46. [D] 46.[C] - 46. D) 76. [B] 106. [B] 136. [B]
17.[D] 47. [A] 47.1D] 47.[C] 47.[D] 47.(8] a7.[A] 47.[D] 77.B] 107. [B] 137. [C]
18. D] 48.[C] 48.[C) 48. [A] 48. [A] 48.[C] 48. [A] 43.[C] 78. [B] 108. [A] 138. [D]
19. [A] 49. [C] 49. [D) 49. [A] 49. [A] 49. [A] 49.[C] 49.[D] 79.[C] 109. [D] 139. [D]
20. [C] 50. [A] 50. [D] 50. [B] 50. [B] 50. [A] 50. [C] 50. [D] 80. [A] 110. D] 140. [B]
21.[C] 51, [C] 51. D) 51.[C] 51. [C] 51, D] 51. [B] 51. [C] 81. [C] 111.[C] 141. [C]
22.1C] 52.[D] 52. D] 52. [A] 52. [B] 52.[D] 52. [A] 52, [B] 82.[C] 112.[D] 142.[C)
23.B] 53. [D] 53. [A] 53. [B] 53. D] 53.(B) 53, [B] 53. [B] 83. [B] 113. [D] 143.[D]
24.[C] 54, [C] 54, [D] 54. [A] 54. [A] 54. [D) 54. [B] 54. [C] 84.[C] 114.[C) 144. [D]
25. [B] 55. [D] 55. [C] 55. [C] 55. [D] 55. [B) 55. [A] 55. [C] 85. [D] 115. [A] 145.C)
26. [B] 56. [A] 56. [B] 56. [B] 56. [B] 56. [D] 56. [B] 56. [C] 86. [B] 116. [C] 146. [A]
27.[D] 57. D] 57. (D) 57.[C] 57. [A] 57.B] 57.[C] 57.[C] 87. [B] 117. [A] 147. [B]
28. [C] 58. [A] 58. [A] 58. [B] 58. [D] 58. [B] 58. [B] 58. [B] 88. [D] 118. [C] 148. [B]
29.[C] 59, [C] 59. [D] 59. [C] 59. [C] 59. [A] 59, [B] 59. [B] 89. [B] 119. [A] 149. [B]
30.[D) 60. [D] 60. [D] 60. [C] 60. [B] 60. [B] 60. [B] 60. D] 90. [C) 120. [A] 150. [C]

Dr. Partha Karmakar, WBES / gf [ 2>

Deputy Secretary ity
WBBPE
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